Study Guide and Review - Chapter 6

Find [fng]{_'r] and[guf]{_'r] .

. F(x)=2x+1
g(x)=4x-5
SOLUTION:
Fla())=2(4x-3) 1

=8x—10+1
=8x-9
gl f(x)]=4(2x+1)-5
=8x+4->
=8x-1
ANSWER:

[-f' i’]{\] =8x-9
[if .f.]{-l']—ﬂ.r—l
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13.

17.

f{\} =4x
g(x)=5x-1

SOLUTION:

fle(x)]=4(5x-1)
=20x -4

g[ F(x)]=5(4x)-1

=20x -1

ANSWER:
[f-g](x)=20x—4
(g f](x)=20x-1

Find the inverse of each function. Then graph the function and its

inverse.

fx)=5x-6

SOLUTION:

Rewrite f(x) as y = 5x — 6. Interchange the variables and solve for y.

x=5y-6
—Sy=-x-6
_x+6

.1‘ -
5

Replace y with f '1(x).

- x+a
flw =
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Graph the function and its inverse in the same coordinate plane. SOLUTION:
Rewrite f(x) as y = —3x — 5. Interchange the variables and solve for y.

by
f x==3y-5
Jy=—x-5
+

x+3

e

—'f-'mﬂ
']'_\
= =
Replace y with f 'l(x).

Flﬂx} £ ( )_x+5

Graph the functlon and its inverse in the same coordinate plane.

>y

Y

)
ANSWER: t‘z"_’h\
|{ } x+6 \
o~ 3'3

ty ; ’t 'h‘_?:.hk
+

>

—;::{ﬂ!
=

>y

ANSWER:
F,f (x)

|{ } x+5

18. f(x)=-3x-5
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1

b

"h .r-'l;'l;

i

19. F(x)=Lx+3

SOLUTION:

I
Rewrite f(x) as v = =X+ 3. Interchange the variables and solve for y.

y=2x-6
Replace y with /-1 (x).

Flx)=2x-6
Graph the function and its inverse in the same coordinate plane.
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flx) |

Z6—4—20
ANSWER:
f(x)=2x-6

Graph each function. State the domain and range.

33. f(x)=Jx-7
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SOLUTION:
Identify the domain. ANS WER'
i)
Write the radicand as greater than or equal to 0.
12
x=720
x=7 —&
Make a table of values for x =7 and graph the function. ~4 -
o=
— - Fa .
x| ¥ O - 8 | 12 | 16x
71 0
(8] 1 D={x|xz7}:R={7(x)| f(x)20}
g | 1.41
o173
i 2 : -
= 34, f(x)=+x+5-3
121223
SOLUTION:
| Fix Identify the domain.
1]
1 Write the radicand as greater than or equal to 0.
8 x+520 )
xX=-2
_4 >
— — Make a table of values for x = -5 and graph the function.
= P .
Oy 4 8 | 12 | 16x

The domain is {x|x =7}, and the range is | f(x)| f(x)=0}.
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¥ ¥ i y
-5 -3 -
— —7—b—=5—4—-3-2| Q)%
- -
-3 -1.59 -2
-2 -1.27 3
=1 3
0 [-0.76 8
-7
l
i ¥
T R ___& D= {'l.| o -5};1{ = {,i"{'l.] | If'[.t)l-j}
-—
-2
’ 3
- 35. fx)==Ax-1+5
-5 %
&
s SOLUTION:
Identify the domain.

The domain is |x|x = -5}, and the range is | f(x)| f(x)=-3].
w ) geis 1SS ! Write the radicand as greater than or equal to 0.

ANSWER: x-120

xzl

Make a table of values for x =1 and graph the function.
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5.75
6.06
6.30
6.5
6.68

O | | e | | B — | =

The domain is {x|x =1}, and the range is | f(x)| f(x)=35].

ANSWER:
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T[T

D={x|x21}:R={f(x)| f(x)25}

36. f(x)=-~Jx+d -1

-

&

SOLUTION:

Identify the domain.
Write the radicand as greater than or equal to 0.

x+4z20

r=-4

Make a table of values for x = -4 and graph the function.
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X 3 1] 14
=4l =1 -
e T T1-3-2]0| { 2 3 4%
-3 |l-147 " -
-3
-1 -I.
58 ;-
0 |-1.67 e
1 [-1.75 _B
~7
| 3
i y
—4-3-2 (0 2 3 4x D={x|x2-4}:R=}1(x)]| f(x)s-1}
-~ -
_3 . .
—d Simplify
wi 6 13
_g 7
o 45. [ +2)
| b
SOLUTION:
18
The domain is {x|x =4}, and the range is | f(x)| f(x)<-1}. 6/ (xz n 2)13 = (x2 n 2)?
y 3
ANSWER: = (x +2)
ANSWER:
3
(x:"+2)
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46. {27(x+3) 48. {[243x1"y"

SOLUTION: SOLUTION:

Y27(x+3) :{js‘{_ws} 3243510 % =3 (+7) (v ]
—3[.1-""3] _31.:_1_."

ANSWER: ANSWER:

3()6 + 3) 3x2y 5

47. Ja*b"?

SOLUTION:

=a Ih‘: |

ANSWER:
a5
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. . [2K Simplify.
49. PHYSICS The velocity v of an object can be defined as v = "'Ii ,
m
where m is the mass of an object and K is the kinetic energy in joules. 50. 54

Find the velocity in meters per second of an object with a mass of 17
grams and a kinetic energy of 850 joules.

SOLUTION:
[5a =33 (2

SOLUTION: e r{ )
Substitute 17 for m and 850 for K in the formula and solve for v: =32

_ [2(850) ANSWER:

7 W
= u'm
=10

. o 51. V144a'b’
The velocity of the object is 10 m/s. JYidda'h

_ SOLUTION:
ANSWER: . . -
10 m/s J1dda'h’ = ,ql[liuf}';l ab

=1 Lnf?: \"'E
ANSWER:

12ab’ \-'lﬂ_h
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52. 4.\,{6_1' -3~,I|'T_r'1}-

SOLUTION:
Ja.fla '3\!7_1’:_1' = lz‘l..lllﬁ-"'( ?,1']_1‘)

= 12|x|yv/22
ANSWER:
12] x| p42
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53. 672 + 798 - 50

SOLUTION:

672 + 7498 - 50 = 6362 + 749.2 - /252
=3642 + 4942 - 542
=(36+49-5)\2
= 8042

ANSWER:
8042

54. (645 - 242 (35 + 42

SOLUTION:

[ﬁJs i :J:}{3Js + 4\&): 18-5+ 2410 =610 -8 2
=74 +18J10

ANSWER:

74 +18J10
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Simplify each expression.

SOLUTION:

] ]
1 2 |

ANSWER:

ILI L
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60. m *

SOLUTION:
|
1 m?
|
mt ot
1
m?

m

m 4=

ANSWER:

1
mt

i
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61. L.
el
SOLUTION:
i i
h": :(:‘fl -l
e
=d 12
an
dt? gn
u”ll
o
ANSWER:
d”
o
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Simplify each expression.

SOLUTION:

I 1y
1 1 i
I-I_.-l v 1 ¥ i
3
v 1

.11

ANSWER:

y
.].
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f—

63. U/729

SOLUTION:

F

Lad e -
ey ﬁ
e e |

ANSWER:

SOLUTION:

S T
z | | 1 2
] P - -
xt=x%)
1
oA

X

ANSWER:
|

5

x3 -y3
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Solve each equation.

66. Vx=3+3=13
SOLUTION:
Jr-3+5=15
{\,f.;-—:s'): ~10°

x—3=100
x=103
ANSWER:
103
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L - |
68. 4++/3x-1=8 71, (x+1)i =3
SOLUTION: SOLUTION:
44y3x-1=8 1
— 1= _3
(Vax-1) =4 e+ 3
3x-1=16 1\4 4
Ix=17 (X+1)4) =(—3)
17
A = o
3 ¥r+1=251
E
3
CHECK:
i3 =3 1
70. N2x+3=3 (x+1)4:_3
lq
SOLUTION: (80+1)4 = —3
——2 3 4 7
[\-'3.\'+3.} =3 U{Ez —3
2x+3=9
X ; 34 3
x=3
ANSWER: no solution
3
ANSWER:
no solution

eSolutions Manual - Powered by Cognero Page 14



Study Guide and Review - Chapter 6

72. @t =4 =0
SOLUTION:
|
at=4=10
P T
a*| =4"
o =64
ANSWER:
4

73. 3(3x—1)3 —6=0

SOLUTION:

|
3(3x-1)F —6=0
1
3(3x—1)s =6
1y} 1
{3;--[}1] -

ix-1=%8
r=3

{

|
b

ANSWER:
3
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